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EW i3 HaAR(F0 a e EW %4+ ###(R0)
B# | DL | £ % Fall BB ik REAA | COP Datum
" Zmzss [ NS [ EW | 29235 | NS | EW | #1 | #6 | #1 | #6|#1 | #6 || Mean | Ns | EW
11| S |None] 4SE4 420 4HE4 420 EW350 | -2 2
12| W | Ns| 4cw- 50 5CXW-2 | 300 250 6 NS160 | -3 -4
13| N |Both| 2NW-1 100 1INW2 120 | 220 6 EW60 | 4 2
14 | E |None]  3NN6 490 6SN6 980 490 10 NS760 | -7 -6
15| S | NS 3cw3 110 3NE-2 100 210 5 EW80 | -1 -5
16| W | EW 3NN3 400 25S2 110 290 7 NS20 | 9 -3
17 | N |None] 6CXW-1 | 100 3DN6 170 70 2 EW100 | 5 7
18| E | NS 5HNG 680 6HS-1 100 | 780 13 NS270 | 9 9
19| s |EW 3NE4 630 3NE3 600 30 1 EW570 | -2 1
20 | W [Both| 2ss3 140 1NN1 90 50 2 EW20 | 4 -3
w3 INP| 28 |24 16 | -14
E e —
B 1 i < 6 BNt
+ B IMP 28 24
&3+ IMP 28 24 )
VP 11.50 8.50
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B# | DL | £ % Fall BB ik REAA | COP Datum
" 2nsmx | Ns [ EW | 252%% | NS | EW | #2 | #8 | #2 | #8 |#2 | #8 || Mean | Ns | EW
11| S |None]  3NE3 400 3NE3 400 EW350 | -2 2
12| W | Ns 4SN4 620 4DN-1 100 | 720 12 NS160 | 10 6
13 | N |Both|  2SE2 110 1NW5 210 | 100 3 EW60 | -2 4
14 | E |None]  6SN6 980 6SN6 980 NS760 | 6 -6
15| S | Ns 3NW-1 50 3CW4 130 | 180 5 EWS0 | 4 2
16 | W | EW| 3SXs-1 100 38S-1 50 50 2 NS20 | -3 2
17 | N |None|  5SS-2 100 5SXS-2 300 | 200 5 EW100 5
18| E | NS 4HN6 680 6HXS-1 200 | 880 13 NS270 | 9 10
19| s | EW 4SE4 620 4SE-1 100 720 12 EW570 | -2 12
20 | W |Both|  1NN1 920 2HW3 140 | 230 6 EW20 | 3 3
B3 [MP| 44 |14 23 16
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* B INP 44 14
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B# | DL | £ % Fall BB ik REAA | COP Datum
Y[ 222 | NS | EW | 2922% | NS | EW | #3 | #10 | #3 [#10] #3 [#10|| Mean | Ns | EW
11| s |None] 3NW3 400 3NE3 400 EW350 | -2 2
12| W | NS 4SN4 620 5CXW-2 | 300 320 8 NS160 | 10 -4
13| N |Both| 2DE2 90 2CN-2 200 | 110 3 EW60 | -1 4
14 | E |None] 6SN6 980 4SN6 480 500 1 NS760 | 6 7
15| s | NS 3NW3 400 3cwa 130 270 7 EWS0 | -8 2
16| wW|EW| 3ss-2 100 2882 110 210 5 NS20 | -3 3
17 | N |None| 5CXW5 550 5DN-1 50 500 1 EW100 | -10 -2
18| E | NS 4HS5 650 4SN-4 400 | 1050 14 NS270 | 9 12
19| s |Ew 3NE3 600 4SE4 620 | 20 1 EW570 | -1 2
20 | W [Both| 3sS-1 100 2DN-3 300 | 200 5 EW20 | -2 7
#3+ NP 42 | 23 2 | 27
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* B IMP 42 23
&3+ 1MP 42 23 ,
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B# | DL | £ % Fall BB ik REAA | COP Datum
[ 2mxg» [ Ns [EW | e5sus | NS | EW | #4 | #12 | #4 [#12] #4 [#12|| Mean | NS | EW
11| S |None|  4SW-1 50 4SE-1 50 EW350 | 9 -9
12| W | NS | sCcxw-2 | 300 3NW-2 | 100 200 5 NS160 | 4 2
13| N |Both| 3NW-2 | 200 3NW-1 | 100 100 3 EW60 | 6 -4
14| E |None| 6SN6 | 980 4SN6 | 480 500 1 NS760 | 6 7
15| s | NS 1SE2 110 | 3NW-3 | 150 260 6 EWS0 | -1 -6
16 | W | EW | 3sXS-1 100 2ss2 110 210 5 NS20 | -3 -3
17 | N |None| ~5CXWS5 550 | 5CXW-1 | 100 650 12 EW100 | -10 | -5
18| E | NS |  6HN-1 100 5HS5 | 650 750 13 NS270 | -9 9
19| s |EW|[ 3NE4 630 4SE4 620 10 EW570 | -2 2
20 | W |Both| 2HW-1 | 100 355-1 100 | 200 5 EwW20 | 3 2
@3t IMP| 24 |36 3 | -23
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* B NP 24 36
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B# | DL | £ % Fall BB ik REAA | COP Datum
* tyz2% | NS | EW | 24223 | NS | EW | #5 | #11 | #5 [#11] #5 [#11 || Mean | NS EW
11 | S |None 4SE4 420 4SE4 420 EW350 -2 2
12 | W | NS 3CE3 110 5CXW-1 100 210 5 NS160 -7 2
13 | N |Both 2CN-2 200 2HS-5 500 300 7 EW60 -4 10
14 | E |None 4SN6 480 6SN6 980 500 1 NS760 -7 -6
15| S | NS 3NW-1 50 2NE3 150 200 5 EW80 4 2
16 | W | EW 2SS-1 50 2NE4 180 130 4 NS20 -2 5
17 | N |None 6CW-1 50 58S-2 100 150 4 EW100 4
18 | E | NS 4HN6 680 5HS5 650 30 1 NS270 9 -9
19| S | EW 3NE4 630 3NE5 660 30 1 EWS570 -2 3
20 | W |Both 1NN1 90 2HW2 110 200 5 EW20 3 3
#®3 IMP|27 |16 -4 | 12
2 8 5 Woods 11 Challenge Madam
* B IMP 27 16
&3 INP 27 16 "
& H-VP 13.72 6.28
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B# | DL | £ % Fall BB ik REAA | COP Datum
Y[ 2nzzs | NS | EW | 2925% | NS | EW | #7 | #13 | #7 |#13] #7 [#13 || Mean | Ns EW
11 | S |None 4SE5 450 4SE4 420 30 1 EW350 -3 2
12 | W | NS 4CE-1 50 3CE3 110 160 4 NS160 -3 7
13 | N |Both 1NN1 90 3DE3 110 200 5 EW60 4 2
14 | E |None 4SS6 480 6SN6 980 500 1 NS760 -7 -6
15| S | NS 2SN-4 400 3NW-2 100 500 1 EW80 -8 -5
16 | W | EW 4HW-2 200 3SS-1 50 250 6 NS20 5 2
17 | N |None 5CXW5 550 4SS-1 50 500 1 EW100 -10 -2
18 | E | NS 5SN-6 600 4HN5 650 1250 15 NS270 -13 -9
19| S | EW 4SE4 620 3NE3 600 20 1 EWS570 -2 1
20 | W |Both 3SS-2 200 2HW2 110 90 3 EW20 -5 3
@3+ IMP| 15 |53 42 | 5
2 43
B 7 Cyclops 13 Z 3
+ B IMP 15 53
£ 1NP 15 53 "
& H-VP 1.03 18.97
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B# | DL | £ % Fall BB ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #9 | #14 | #9 [#14| #9 [#14 || Mean NS EW
11| S |None 3NE4 430 4SE4 420 10 EW350 -2 2
12 | W | NS 4CW-1 50 5CW-2 100 50 2 NS160 -3 2
13 | N |Both 1NW-1 100 3SE-1 100 EW60 4 -4
14 | E |None 6NN6 990 4SN6 480 510 1 NS760 6 7
15| S | NS 4CW4 130 3Ccw4 130 EW80 -2 2
16 | W | EW 3NE-1 100 3SXS-1 100 200 5 NS20 2 3
17 | N |None] 6CXW-2 300 5CW-1 50 250 6 EW100 9 -4
18 | E | NS 5HS5 650 6HS-1 100 750 13 NS270 9 9
19| S | EW 3NE4 630 4SE4 620 10 EW570 -2 2
20 | W |Both 3CE-4 400 2NN-2 200 600 12 EW20 9 5
@3 IMP|47 | 2 30 | 24
2 9 AEpERE |14 Catchall
+ B IMP 47 2
&3 INP 47 2 y
s VP 19.76 0.24
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B# | DL | £ % MEZ g ik REAA | COP Datum
Y= Hru% | NS | EW | 2x25% | NS | EW | #6 | #1 | #6 | #1 | #6 | #1 Mean | NS EW
11 | S |None 4HE4 420 4SE4 420 EW350 -2 2
12| W | NS 5CXW-2 300 4CW-1 50 250 6 NS160 4 3
13 | N |[Both 1NW2 120 2NW-1 100 220 6 EW60 -2 -4
14 | E |None 6SN6 980 3NN6 490 490 10 NS760 6 7
15| S | NS 3NE-2 100 3Cw3 110 | 210 5 EW80 5 1
16 | W | EW 2882 110 3NN3 400 290 7 NS20 3 -9
17 | N |None 3DN6 170 6CXW-1 100 70 2 EW100 7 -5
18 | E | NS 6HS-1 100 5HN6 680 780 13 NS270 -9 -9
19| S | EW 3NE3 600 3NE4 630 30 1 EW570 -1 2
20 | W |Both 1NN1 90 2883 140 50 2 EW20 3 -4
B3t INP| 24 |28 14 | -16
— X e
B 6 EN i 1 E
B INP 24 28
£+ 1NP 24 28 y
o 35 VP 8.50 11.50
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NS #E¥§F #a s (PO 8 T bl 2 2 NS ¢:% ®R¥8(®0)
EW #&®8 2x&(R0O a e EW &8F § #3 % (FO
B# | DL | £ % MEZ g ik REAA | COP Datum
" 25232 [ Ns [ EW | 25z2x | Ns | EW | #8 | #2 |#8 ] #2 | #8 | #2 || Mean | Ns | EW
11| S |None|  3NE3 400 3NE3 400 EW350 | -2 2
12| W | NS |  4DN-1 100 4SN4 620 720 12 NS160 | -6 -10
13| N [Both| 1NW5 210 2SE2 110 100 3 EW60 | -4 2
14 | E |None|  6SN6 980 6SN6 980 NS760 | 6 6
15| s | Ns| 3cw4 130 3NW-1 50 180 5 EW80 | -2 4
16 | W | EW| 3sS-1 50 3SXS-1 100 | 50 2 NS20 | -2 3
17 | N |None| 5SXs-2 300 5SS-2 100 200 5 EW100 | -5
18 | E | NS | 6HXS-1 200 4HN6 680 880 13 NS270 | -10 -9
19| s |EW| 4SE-1 100 4SE4 620 | 720 12 EW570 | 12 2
20 | W |Both|  2HW3 140 1NN1 90 230 6 EW20 | -3 3
w3 IMP| 14 |44 16 | -23
A .
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* E|INP 14 44
&3+ IMP 14 44 %
2 VP 2.16 17.84
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B# | DL | £ % MEZ g ik REAA | COP Datum
* tyzx% | NS | EW | 2223 | NS | EW | #10 | #3 [#10] #3 [#10] #3 || Mean | NS EW
11 | S |None 3NE3 400 3NW3 400 EW350 -2 2
12 | W | NS 5CXW-2 300 4SN4 620 320 8 NS160 4 -10
13 | N |Both 2CN-2 200 2DE2 90 110 3 EW60 -4 1
14 | E |None 4SN6 480 6SN6 980 500 1 NS760 -7 -6
15| S | NS 3CW4 130 3NW3 400 270 7 EW80 -2 8
16 | W | EW 2SS2 110 3SS-2 100 210 5 NS20 3 3
17 | N |None 5DN-1 50 5CXW5 550 500 1 EW100 2 10
18 | E | NS 4SN-4 400 4HS5 650 1050 14 NS270 -12 -9
19| S | EW 4SE4 620 3NE3 600 20 1 EWS570 -2 1
20 | W |Both 2DN-3 300 3SS-1 100 200 5 EW20 -7 2
B3 INP| 23 | 42 27 | 2
B 10 Dragonite 3 Oceans
* B IMP 23 42
&3+ 1MP 23 42 o
& H-VP 4.25 15.75
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B# | DL | £ % MEZ g ik REAA | COP Datum
" 2msms [ Ns [ EW | 25z2x | Ns | EW | #12 | #4 [#12] #4 |#12] #4 || Mean | Ns | EW
11| S |None|  4SE-1 50 4SW-1 50 EW350 | 9 -9
12| W | NS | 3Nw2 | 100 5CXW-2 | 300 200 5 NS160 | -2 4
13| N [Both| 3NW-1 | 100 3NW-2 | 200 100 3 EW60 | 4 -6
14 | E |None|  4SN6 480 6SN6 980 500 11 NS760 | -7 6
15| s [ NS| 3NW-3 | 150 1SE2 110 | 260 6 EW80 | 6 1
16 | W | EW| 2ss2 110 3SXS-1 100 | 210 5 NS20 | 3 3
17 | N [None| 5CXW-1 | 100 5CXWS5 550 | 650 12 EW100| 5 10
18 | E | NS 5HS5 650 6HN-1 100 | 750 13 NS270 | 9 9
19| s |EwW| 4sE4 620 3NE4 630 | 10 EW570 | -2 2
20 | W |Both|  3sS-1 100 2HW-1 | 100 200 5 EW20 | -2 3
#3+ IMP|36 |24 23 | -3
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EW ##%7 %33 (R0) apble EW m= 2 #up(P0)
B# | DL | £ % MEZ g ik REAA | COP Datum
* tyze% | NS | EW | 24223 | NS | EW | #11 | #5 [#11] #5 [#11| #5 || Mean | NS EW
11 | S |None 4SE4 420 4SE4 420 EW350 -2 2
12 | W | NS 5CXW-1 100 3CE3 110 210 5 NS160 -2 7
13 | N |Both 2HS-5 500 2CN-2 200 300 7 EW60 -10 4
14 | E |None 6SN6 980 4SN6 480 500 1 NS760 6 7
15| S | NS 2NE3 150 3NW-1 50 200 5 EW80 -2 -4
16 | W | EW 2NE4 180 2SS-1 50 130 4 NS20 -5 2
17 | N |None 58S-2 100 6CW-1 50 150 4 EW100 -4
18 | E | NS 5HS5 650 4HNG6 680 30 1 NS270 9 -9
19| S | EW 3NE5 660 3NE4 630 30 1 EWS570 -3 2
20 | W |Both 2HW2 110 1NN1 90 200 5 EW20 -3 -3
w3t IMP| 16 |27 12 | 4
2 8 11 Challenge Madam | 5 Woods
+ B INP 16 27
£ 3 INP 16 27 u
# VP 6.28 13.72
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B# | DL | £ % MEZ g ik REAA | COP Datum
* txz 2% | NS | EW | 29223 | NS | EW | #13 | #7 [#13| #7 |#13]| #7 Mean NS EW
11 | S |None 4SE4 420 4SE5 450 30 1 EW350 -2 3
12| W | NS 3CE3 110 4CE-1 50 160 4 NS160 -7 3
13 | N |[Both 3DE3 110 1NN1 90 200 5 EW60 -2 -4
14 | E |None 6SN6 980 4SS6 480 500 1 NS760 6 7
15| S | NS 3NW-2 100 2SN-4 400 || 500 11 EW80 5 8
16 | W | EW 38S-1 50 4HW-2 200 250 6 NS20 -2 -5
17 | N |None 4SS-1 50 5CXW5 550 || 500 1 EW100 2 10
18 | E | NS 4HN5 650 5SN-6 600 | 1250 15 NS270 9 13
19| S | EW 3NE3 600 4SE4 620 20 1 EW570 -1 2
20 | W |Both 2HW2 110 38S-2 200 90 3 EW20 -3 5
B3 IMP| 53 |15 5 | 42
2 3
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B# | DL | £ % MEZ g ik REAA | COP Datum
* t¥z 23 | NS | EW | 2¥223% | NS | EW | #14 | #9 [#14| #9 |[#14]| #9 Mean NS EW
11| S |None 4SE4 420 3NE4 430 10 EW350 -2 2
12| W | NS 5CwW-2 100 4CW-1 50 50 2 NS160 -2 3
13 | N |[Both 3SE-1 100 1NW-1 100 EW60 4 -4
14 | E |None 4SN6 480 6NN6 990 510 1" NS760 -7 -6
15| S | NS 3Cw4 130 4CW4 130 EW80 -2 2
16 | W | EW 3SXS-1 100 3NE-1 100 200 5 NS20 -3 -2
17 | N |None 5CW-1 50 6CXW-2 300 250 6 EW100 4 -9
18 | E | NS 6HS-1 100 5HS5 650 750 13 NS270 -9 -9
19| S | EW 4SE4 620 3NE4 630 10 EW570 -2 2
20 | W |Both 2NN-2 200 3CE-4 400 600 12 EW20 -5 -9
w3 IMP| 2 |47 24 | -30
~ W] v
#x || 14 Catchall 9  AkFERZ
* B INP 2 47
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2 VP 0.24 19.76




